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program tul34;

const n=6;
x:array[1..n] of real=(300,400,500,600,700,800);
y:array[1..n] of real=(6.97,7.01,7.12,7.28,7.45,7.62);

var
i;integer;

XX,yY,s1,s2, s3,s4,s5,56,57,a0,al,a2, d1,d2,d3,d4:real,

begin

for i:=1 to n do begin

s1:=s1+x[i];

s2:=s2+y[i];

s3:=s3+sqr(X[i]);

sd:=s4+x[i]*y[i];

s5:=s5+sqr(x[i])*x[i];

s6:=s6+sqr(x[i])*y[i];

ST:=sTHX[I]*X[I]*x[i]*X]i];

end;
d1:=n*s3*s7+s1*s5*s3+51*s5*s3-s3*s3*s3-51*51*s7-n*55*s5;
d2:=52*s3*57+54*35*33+56*51*55-56*53*$3-52*55*55-54*351*S7;
d3:=n*s4*s7+s1*s6*s3+53*52*55-53*53*54-51*52*57-56*S5*N;
d4:=n*s3*s6+s1*s5*s2+51*54*33-53*53*52-55*34*N-51*51*56;
a0:=d2/d1;

al:=d3/d1;

a2:=d4/d1;

writeln(‘a0=', a0:5:3, 'al='", al:5:3, 'a2=', a2:5:3);

xx:=800;

yy:=a0+al*xx+a2*sqr(xx);

writeln(yy=",yy:5:2);

end.
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